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2023~4o1åÿ�~ßþçW�W��ÛsßþçW�Wÿ���~��W~²wöí{ttv�1ïO²ÿ¯�put2

ßo÷� õ��ÿþ ç��ÿþwþû(f) ��W÷

wþû ��ºíßýn(g=d+e) ��ºí

(d) (e) ��ºí ��grº ��gzw oßý (e+d)/d

ßý÷

(g/f) (d) (e) (f)

³ ³ ³ ³ ÿ ³ ³ ³ ÿ

y_ 45,981 34,866 11,115 11,115 100.0 11,115 0 0 100.0

ßþçW�W�� 32,117 32,117 0 0 ÿ 0 0 0 100.0

] ¿Ì½óóñ¹ 9,607 9,607 0 0 ÿ 0 0 0 100.0

] ÷ß½óóñ¹ 12,569 12,569 0 0 ÿ 0 0 0 100.0

ßþ W½óóñ¹ 6,682 6,682 0 0 ÿ 0 0 0 100.0

ßþçW�Wÿ��� 13,864 2,749 11,115 11,115 100.0 11,115 0 0 100.0

;ÿ çøù�w~2022~þùû�ii�{ßk¿ÿ(��Wöí¿ÿ){ÿutvè{wvt~y2
(2022~þ{¹2023~þ~w~�1o�W~��W~öí{YW�rº~{³2)

;ÿ ç��ÿþwþûx�11981~6o1å}k~õ��ÿþ(þûÿþýýÌî)ýÌï_{þûu¼�þ{²tt~y2
;ÿ ßþ ÷�½óóñ¹�1��xÿ���wq}wvzº1O×w��N~þ{[OwT��{kVwvt~y2

100.0ßþ ÷�½óóñ¹

�iýþßþçW�W0�iý¯��WöíÿßþçW�W��ûßþçW�Wÿ���ÿ

17,123 6,008 11,115 11,115 100.0 11,115 0 0


